FERAT4ERE

L= b &3 3
. K= | A4 AR
(wHyR) | J® A
— R B
XE | SUBRCC) | KiE(°C) | EEUKE [ ER =Xz R
58] EBh 21.0 175 EdS BE kEfR-$ me
78] =Y 27.0 21.0 =RE BE kEfR-$ me
98] m®h 33.0 23.0 == BE k-t me
18] Bh 22.5 18.5 == BE TR mR
18] =Y 6.0 9.0 == BE ZkEfR-$ me
3A| Bh 13.0 11.5 RE k) Efke-t B/E
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E]| 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE(75%1E) - 8.9 0.7(0.9) i -
58] 70 8.5 0.5 <1 -
7A| 71 8.6 <0.5 <1 -
98] 78 7.7 0.8 <1 -
11A] 7.1 8.6 0.5 <1 -
1Al 70 10 0.9 i< -
3A] 6.9 9.9 0.9 <1 -
BEIER
HREHL| 27V o AEIOL| WFE BiKE |[7LFILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Bl 001LLTF [ FE#EH | 001LLF | 0.058LF [ 0.01LLF [ 0.0005LLF
TiH{E - - - - - - -
5H - - - - - - -
18 - - - - - - -
9K - - - - - - -
118 - - - - - - -
18 - - - - - - -
38 - - - - - - -
D2/ 1=1=F e | 1,2-20 70 [1,1-5500| Y A-1,2-098]1,1,1-F)50
PCB 5 mig LR x4y | TFLY NTFL nT4
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s ERE [0.02LLF] 0.002LLTF | 0.004LLF | 0.02LLF | 0.04LLF 1LF
TiHE - - - - - - =
5H - - - - - - -
18 - - - - - - -
9K - - - - - - -
118 - - - - - - -
18 - - - - - - -
38 - - - - - - -
1,1,2-+y4 [RUYBaA|Fr5400x|1,3->50A = Smpate FARAH
aaTsy | TFLY FLY oroRy Fo5L e P %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LLF | 0.01LLF [0.002LLF |0.006LLF| 0.003LLF 0.02LLF
TiHE - - - - - - -
5H - - - - - - -
18 - - - - - - -
9K - - - - - - -
118 - - - - - - -
18 - - - - - - -
38 - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
5H - - - - -
18 - - - - -
9A8 - - - - -
Al - - - - -
1A - - - - -
38 - - - - -
EDHIEE
N—~EH \ RILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THE - 0.75 0.037 = = = =
5H - 0.56 0.039 - - - -
18 - - - - - - -
9H - 0.88 0.049 - - - -
118 - 0.45 0.019 - - - -
18 - - - - - - -
3H - 1.1 0.042 - - - —
BiLH HAHMRM | VU : e i s
IT/=| kS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (4 S/cm)
FEE - - 15 - - - -
5A[ - - 0.8 - - - -
A - - 1.0 - - - -
0B - - 4.6 - - - -
Al - - 1.6 - - - -
1A - - <05 - - - -
38 - - 0.7 - - - -




ERRITEE

5 2 TEXE| A4 AHJI
(BER)| BB A
— g8 B
Xz |SUBRCC) | KiE(°C) | EEUKE [ ER =i BR
58] Eh 21.0 175 EdS BE kEfR-H me
18] £Y 275 22.0 == BE kEfR-$ me
9Bl Eh 33.0 23.0 =RE BE T8 mR
18] Bh 22.5 18.5 == BE T8 mR
1A =Y 6.0 9.5 xE BE xEf-h mE
3A| Bh 13.0 11.5 RE k) Efke-0 ®/R
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E]| 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE(75%1E) - 9.0 0.7(0.7) i 8000
58] 6.7 8.5 <0.5 <1 -
78] 6.9 8.7 <0.5 i< 7900
98] 74 7.8 0.5 <1 -
11A] 7.1 8.7 <05 <1 -
18] 7.1 10 0.7 <1 8000
3A] 68 10 1.2 <1 -
BEIER
NS INESS P ED ANEYOL|] ME ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
S| 0.01LLF | ERE | 001LLF | 0.058LF | 0.01LLTF | 0.0005LLF JERRH
EH <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
58] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
18 - - - - - - -
98] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
118] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
18 - - - - - - -
38| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
SZTeI=E] wee | 12-2908[1,1-C90n|Y2-12-990(1,1,1-k) 90
PCB 5 bR Ak 3 nts | T A hTae
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s ERE [0.02LLF] 0.002LLTF | 0.004LLF | 0.02LLF | 0.04LLF 1LF
EH = <0.002 <0.0002 <0.0004 [ <0.002 <0.004 <0.01
5H - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
18 - - - - - - -
9K - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
118 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
18 - - - - - - -
35 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
1.1,2-;y4 MY AaAFr34o00x]1,3-o49Aa — . o sed FARH
aaIsy | TFLY FLY oroRy FI5L PE 2% %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LLF | 0.01LLF | 0.002LLF |0.006 L F| 0.003LLF 0.02LLF
SE{E] <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
58] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
18 - - - - - - -
98] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
11 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
18 - - - - - - -
38| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
(@l 001 T [001AF[ 10MF [ 08ULF [ 1LLF
iy <0.001 [ <0.001 0.28 0.1 0.1
5A] <0.001 [ <0.001 0.31 <0.1 <0.1
18 - - - - -
9A] <0.001 | <0.001 0.26 0.1 <0.1
11A] <0001 | <0.001 0.25 <0.1 0.2
18 - - - - -
3A] <0.001 | <0.001 0.30 <0.1 <0.1
ZDHIEER
N SR | 28 @ | 2E® | sankus | LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FHiEl - 051 0.039 <0.04 0.007 - -
5H - 0.49 0.071 <0.04 - - -
18 - - - - - - -
98 - 0.46 0.029 <0.04 0.007 - -
118 - 0.38 0.017 <0.04 - - -
18 - - - - - - -
38 - 0.71 0.038 <0.04 - - -
B HAHMRYE | VB : R —
IT/=| kS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (FF) (4 S/cm)
E¥){E - 350 1.0 <0.01 0.03 N N
5H - 100 0.7 <0.01 0.06 - -
18 - - 1.4 - - - -
98 - 56 2.1 <0.01 0.01 - -
118 - 1200 0.6 <0.01 0.01 - -
1A - - 0.5 - - - -
38 - 51 0.7 <0.01 0.03 - -




